442 Mathematics Alternative B Paper 2 (122/2)

No | Marking scheme marks | comments
1. | 190.1x30=5703 M1
=5700 Al
2
Z. o Ratie: g _1 Bl Common ratio
_32°-D M1 | substitution into formula
10
3 120;1 1 &
= 31024-1) 3069 3
3. B 35 Ml
x 84
e 5x 84 Mi
35
=12 Al
3
4. | Let heightbe x cm
l(x, +3)x=35 Ml
2
x> +3x=70=0 Ml
(x+10)(x-7)=0
x=Tor x=-10 Al
. height =7, base =7+ 3 =10 Bl
' 4
5. | Full square =11 Bl
Fractional square = 26}
Area estimate: 11+ e bk
2 Al
= 24cm2 3
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6. | Let length be x
: S s M1
sin30° sin75
3 5sin30° M
~ sin75°
Al
x=2.59
3
7 2 Pl
@) 11
3
L
S L1
W
§ 9
>
(i
8
7
6
5
4
3
2 ans
1
1 2 3 4 5 7 8
<$O/ : Force (F)
5 Bl
(b) Extensk %when force is 7 units 10.5cm
> 3
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8. | Latitude difference: 51° + 37°= 88° Bl
Distance in kilometres;
Z—&X-Z—ZXZ 6370 Ml
360 7
=9787.6 Al
3
9. |(a) S1
gt ]
7
N
L e
9 3617 210112401 A 360
-1
TN i
.2 | |
« P1
$§ Cl
(b) When 6°~162°, y = -0.4’
S Bl
%
&
& 4
10. | Distance covered ~380m
o’ } Bl
Time taken &  20s
&
 soeed 2580 LS80 20
P S1000 T 3600 M1 .
or equivalent
380 3600
IOOO 20
— 68.4km/h al
3
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11. | Compound interest by end of 4™ year

_ 4

=50000x1.1" - 50 000 M

=50 000(1.1* - 1) Ml

=50 000(1.4641-1)

=50 000 (0.4641)

=Ksh 23 205 Al

3

12. | Angle representing different vehicles:

Cars - —5—9—><36O =118°

180
Lorries - —?’ix 360 =170°
180
B2 | (Bl for 3 for correct)

Pickups 5 x 360 = 52°
180
Buses - L] x360 =94°
180

Tankers - 2— x 360 = 26°
180

g Tankers

Bl
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13. | 2p +3r=00...unvessmuns ) M1 | Forming equation
Ipt2r=35............ (ii)
2p+4r=T70.......c....... (i11) M1 | Attempt to solve
(iii) - (i)
r =10
Ip+2{10)=35
p=15 Al | Forrandp
rubber is sh10 and pencil is sh35 3
14. | (a)
b3 el ) h
7 5 15-14\-7 3
_(5 '2)
7 03 Al
M1
®) | ‘=0
6 4
4x-12=0 Al
x=3 3
15. (a) Side of QRST = J(l—l)z +(3-1)° M1 | or equivalent
=9 <§'
cArea=2x2=4 & al
(b) Areaof Q'R'S'T"’ <§§
3 1 Q”S
= det (0 ZL\Q Ml
&
i6 x4 /\éo Al
=24 '\9'\/
4
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16. Igl = f62+22 M1
Al
= J40=6.32
2
17.
(a) | (i) a+d=80 M1
a+5d=320
4d =240
d=60 Al
a=20
() ar =80...00 5050 (1) Ml
ar =320............. (1)
2320 _
80
=3
’ Al
=8 _q0
8
®) | AP. Too=20+ 19 x60 L
= 1160 sl
1202%-1) &
(C) 0p, SlZ =—2_] C{&@ M1
S
=49140 &
&
12
AP.Sp= E§x12+(12-~1)60} -
\2\
- 404
&
Differencgs=49140 - 4104 Ml
& =45036 Al
v
10
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18.

(a)

(®)

(©)

(M)

X -3 -1 1 21314
y:xz—x—6 6 '4 -6 -4 0 6
- 1o 4
i) y=(=)——-6=-6.25
(i) y (2) 5
i ¥
iR g
] 1
& -
\ 1T
i
IF - 2 I 4
1
J
S
\ [?
T 1 % N -
vé : V.
N7
,\ 1L T
N
; N -
Line y=—2x+1
x=24
x=-2.8

B2

Bl

S1
Pl
C1

P1
L1
Bl
Bl

All correct:

allow B1 for 5 correct

10
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19. | a) 50000 x0.9 Mi
= Ksh 45000 Al
b) (1) 50000 x1.75 Ml
= Ksh 87 500 Al
(ii) Amount to pay in instalments; MI
= 87500 x0.8
= Ksh 70 000
Monthly instalment M1
_ 70000
28 Al
= Ksh 2 500
¢) (i) 50 000 x1.04" Ml
=90047.17528
= Ksh 90047 - Al
(1) 90 047 — 50 000 = Ksh 40 047 B1
5§,
&
%)
©
S
%
NJ 10
&
S
&’
&
&
Y
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20.
(a)

(b)

(d)

Length of CD

CD?*=8>+4.2> -2 x8x4.2 Cos 45°
=64+ 17.64 - 16x4.2x 07071
=81.64 —47.52 =34.12

CD =434.12 =538
Angle ABD:

532 =6>+4.22-2x6x4.2 Cosd
36+17.64—5.3
50.4
6 =Cos™ 0.5069
6 =159.5°

Cos 0=

Angle BCD:

sin BCD _ sin43
4.2 5.8

4.2 xs8in 45
5.8

Angle BCD = sin"0.5120

Sin BCD =

Ml
Ml

Al

MI

Ml

Al

Ml

Al

Ml

Al

10

or equivalent

or equivalent
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21.

Dr Cr
Date Particulars | Folio | Amount | Date Particulars | Folio | Amount
2017 Ksh. 2017 Ksh.
February | Balance b/f February | Feeds 2 500
1 10 000 | 3
13 Broilers 12 000 | 7 Water 750
17 Eggs 400011 Materials 1 900
24 Chicks 5000 | 21 Wages 3 500
26 Layers 15000 | 25 Electricity 1300
28 Incubator 12 500
28 Balance c/d 23 550
46 000 46 000
March 1 | Balance b/f 23 550
Egg sales Bl
Layers sales Bl
Feeds B1
Wages Bl
Dr entries Bl
Cr entries Bl
Entries positively added é" M1
Ve
& Al
e
Balance b/f: 46000 — 253150 M1
= Ksh 23\?50 Al
S 10
9
(é?
&
<
>
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Marks 1-10 11120 | 21-30 [ 31-40 [ 41-50 | 51-60 | 61-70 | 71-80 81-90 | 91-100
Frequency |2 4 5 8 11 3 3 2 1
Cumulative | 2 6 11 19 30 44 47 49 50
frequency
Bl | v Cumulative frequencies
\

50

40
g
-] S1 | Correct scale
@
"é 30
s / P2 | Correct plotting: using
= .
£ upper class boundaries;
E allow P1 for 6 — 9 points
320 -

! C1 | Correct Curve
10
4 i
1

N
(i)50-41 &
(</ +
éo

=D
G

% = /9_x100
" 50

= 18%

05 105 205 305 4@3
N

(b) (i) median=46 &
>

505 605 705 8

0.5 905

B1 | Identifying median point
Bl | Reading off

-—t

M1

Mli
Al

10
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e P(VV)=~5—xE
(a) 8

P (same colour) = % +E

56
v 2
‘ 56

()i P (VgVp) = %x%
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24.

a

0 2)(2 5 3) (4 6 10
) 15 oJl2 3 574 10 6

Vertices: 4'(4,4),B'(6,10),C'(10,6)

. a b\2 5 3) (-2 -5 -3
)cd235—2 3 5

2a+2b=-2
S5a+3b=-5
6a+6b=-6
10a+ 6b=-10

a=-1

2(1)+2b=2=b=0
2c+2d=2
S5¢c+3d=3
6c +6d =6
10c +6d =16
4¢=0

c=0 «

~0+2d=2 :%‘gl

S

Matrix =¥

1%0)(2 5 3) (-2 -5 -3
2 1)2 3 5) (-2 -7 -1

Vertices: A™("2, 2),B"("5, 7),C"("3, 1)

M1

Al

MI

M1

M1

Al

B1

M1
Al
Bl

10

For correct matrix
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